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SECTION — A
i) General Awareness
The brightest planet is 6. The first Chairman of the Atomic
(&) Mars Energy Commission was
(B} Mercury (&) Dr.C. V. Raman
{C) Meptune (B) Dr. H.J. Bhabha
(D) Venus (C) Dr. A, P.J. Abdul Kalam

The chief ore of Aluminium is
(A) lron

(B) Cryolite

(C) Bauxite

(D) Haematite

Guif Co-operation Councll was
originally formed by

(A) Bahrain, Kuwait, Oman, Qatar,
Saud| Arabia and United Arab

Emirates
(B) Second World Nations
(C) Third World Nations
(D) Fourth World Nations

Which city is famous for cotton
industry in Tamil Nadu 7

(A) Coimbatore

(B) Trichy

(C) Madurai

(D) Chennal

During Waorld War I, when did
Germany attack France 7

{A) 1940
(B) 1941
(C) 1942
(D) 1843
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(D)} Dr. Vickram Sarabhai

Shore temple is located al
(A) Calicut

(B) Sanapur

(C) Pamna

(D} Mahabalipuram

Himalayan Mountaineening Institute
is at

(A) Daresling
(B} Dehradun
(C) Marmagoa
(D) Dispur

How much districts are there in
Punjab ?

(Ay 13

{B) 17

(C) 22

B) 15

Indira Gandhi Centre for Atomic
Research, established In 1871, is
located at

(A} Indore

(B) Trombay, Maharashtra
(C) Kalpakkam, Chennal
(D)} Kolkala
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12,

13

14.

15.

Ax

How much districts are there In
Tamil Nadu 7

(A} 26
(B) 27
(C) 28
(D) 32

Jaspal Rana is associated with which
of the following game 7

(A) Swimming
(B) Archery

(C) Shooting
(D) Weightlifting

The ‘Black flag’ signifies
(4} Revolution/danger
(B) Peace

(C)} Protest

(D) Truce

Tripitakas are sacred books of
(A} Buddhists

(B) Hindus

(C} Jains

(0} None of the above

Rabindranath Tagore's ‘Jana Gana Mana’
has been adopted as India's National

Anthem. How many stanzas of the

said song were adopted ?

(A) Only the first stanza

(B) The whole song

(C} Third and fourth stanza

(D) First and second stanza
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‘Madhubani', a style of folk paintings,
is popular in which of the following
states in India ?

(&) Uttar Pradesh

{B) Rajasthan

(C) Madhya Pradesh

(D) Bihar

Who is the author of the book
‘Forbidden Verses' 7

(A) Salman RushDie
(B) Abu Nuwas

(C) Ms, Taslima Nasrin
(D) D.H. Lawrence

Which of the following English films
was the first one to be dubbed in
Hindi 7

(A) Aladdin

{B) Universal Soldier

(C) Speed

{D) Iron Man

There are non-permanant

membaers of the Security Council.
(A} 5

(B) 7

(C) 10

(D} 15

Vembanad Is

(A) A sea port

(B) Lagoon lake

(C) Mouniain peak

(D) Multipurpose project
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(A) 26
(B) 27
(C) 28
(D) 32
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i) General Intelligence and Reasoning Ability

21. Elated isto despondent as 24, pain
enlightenad is to (A) cut
(&Y aware (B)  burn
(B) ignorant :E: ESEEHEE

(C}  miserabie
Directions for Q. No. 25 to 27 . Each

prablem consists of three stateime Mts.

Based on the first two stalements, the
22. Here are some words translated from third statement may be true, faise or

an artificial language. Uncertain.

(D) tolerant

gedabim means Kidney stones 25. The Kingston Mall has maore Stores
than the Galleria,

romzbim means kidney beans
The Four Comers Mall Fas fewer

romzbako means wax beans slores than the Galleria.
, - The Kingston Mall h n
Which word could mean wex stafue" ? than thagFDur E-::ner:E M:IT RS
(A) godaromz Itthe first two statements are true, the
(B) lazbim third statemens iz
(C) wasibako T
(B) Falsa
() romzpeo (G} Uncertain
Directions for Q.No. 23 and 24 : Each B o
| question has an underlined word followed 2B, "!":LF”"E twlips In Zoe's garden are
' . Wwhite.
. by four answer choices. You will choose All the pansies in Zog's garden are
the word that Is a necassary par of the vellow,
| underlined word. All the flowers In Zoe's garden are
either white or yvellow.
23, harvest If the first two statements ars true, the
04 -t third statement is
(A) True
(B} stockplle (B) Falss
(C) tractor (C) Uncertain
(D} orop (D) Certain
A 8-
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ii) \TTTa i e AvfRes g
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godabim =1 ¥ # freft 2em ¥
romzbim &1 TdeE & e afim 25. E%@ﬂﬁﬁﬂéﬁﬂﬂﬁﬁﬁ}tﬁ I
romzbako 1 WaEE § 990 dE TRRFHE TR R E T A T |
T F uamm s 7 fmea wis | 2 R S aie |
(A) godaromz At gF E |
(B) lazbim T e &1 e Wl R, 7 e w8
(C) wasibako (A) &4
(D) romzpeo (B) 2
(C) srfHfFm b
ﬁﬁmm,m.zaai‘km;nﬁmmﬁqm O BfEm
TaifFa v § 3 30 O 9w T I
A m§ | it wee w1 snEvEE APEE 26. W& wie & ot gemare € |
7= g | 1 o st & wft St e € |
i sl T aE i |
23. Fad afe TEw o1 A T H, T A e
Y S (A) & i
oy .- (B) %3
(©) ¥ (C) wfifEm
(D) 5= (D) fafFm
A 5
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g 7. During the past year, Josh saw more | Directions for Q. Ne, 30 and 31 ; In sach
movies than Stephen, -
2) Staphen-saw lewWar mMovies Hian sanes, 100x lor the degree and direction
Darren. of change between the numbers. In other i
Darren saw more movies than Josh. words, do the numbers Increase or
It the first two statemenis are true, tha decrease, and by how much,
third statement is
: (A} True 30. Look at this series : 21,9, 21, 11, 21,
. (B) False 13, 21, ... What number should come r
(C) Uncertain next 7
(D) Certain (A 4
28. Arrange the following in a meaningful (B) 15
sequence ©) 21
1. Birth n
2. Degqth ) &9
|
§ S 31. Look at this series : 58, 52, 48, 40, :
4. Marriage 34, ... What number should come |
5. Education
naxt 7
(A) 1,3, 4,52
(B) 1,54.2,3 (A) 26
(C) 23,4,5,1 (B) 28
(D) 4.5,3,1,2 ({C) 30 ,
3. Amange the following in a meaningful (@ 32 e
sequence, from paricular to genaral ]
1. Famiy w Directions for Q. No. 32 to 35 : Look J
8. Ol carefully for the pattem, and then choose
3 Maimbes which pair of numbers comes next,
4, Localit
o 32, 17 17 34 20 20 21 23
5 Country
(A) 3,1,2, 4,56 (A) 2623
(B) 3,1,2.5,4 (B) 34 20
Cy 31,425 (C) 23 33
(D) 3,1,452 (Dy 23 28
A 10-
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o7, figd gE wm 4 wwa 8 afus e
el | ThA T B0 el 26 |
2 7 s & At et v |9l
e B e A R, T A e
(A) &=
(B) =2
(C) MR
(o) Fifram

op, Fore w1 el g 8 wEE |

1. o4

2, 74

3, W@

4, Tam

5. e

(Ay 1,3,4,52
(B) 1,5,4,2,3
(C) 2.3.4.6.1
(D) 4,53.1,2

o9, i = sl = o GEET |
1. 9iEw

TuE

Tl

ElER

»

G2

(A) 3.1,2,4,5
(B8} 3,1,2,5.4
Gy 31,425
(Y 3.1.4.5.2

n oo @GN

(A) 4

(B) 15
(Cy 21
(D) 23

(A) 26
(B) 28
(C} 30
(D) 32

(B}
(C)
(D)

1=

oy (w. %, 30 37 31) ; U= YESATH
gl 3 =fie 5 g o W 2
A s AT | GaerE ), wEE w91
et &, sfn Fea | 7

40, SEen:21,9,21,11,21,13, 21, ... H
spreft a2 7
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31. e 58, 52, 46, 40, 34, ... § 3
w8 T

Frdy (w. %, 32 @ 35) : T %1 =9F 4 =2hEn
Sii7 aTet de STE] g9 S |

32. 17 17342020 31 23
(A) 26 23

a4 20

23 33

23 28
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L °F

33 21 25 18 29 23 18 37, ZAg Y4B, XCg, W,D,
(A) 43 18 (&) EV
B V
(B} 41 44 B YeF
(C) 37 18 (D) VE,
(D) 37 41
38, QPO, NML. KJI, , EDC
34, ¥H 65 B5 55 45 B5 35 (A) HGF
(A) 28 15 (B) CAB
(B) 25 B85 (C) JKL
(C) 32 25 (D} GHI
L)
(D) 85 35
39. JAK, KBL, LCM, MDN, —
35 23465648 (A) OQEP
(A} 9 10 (B) NEO
(€} MEN
(B) 48
(D] PFQ
(G 10 4
Directions for Q. No. 40 : Choose that
(D) 94 set of numbers from the four alternative
36. Which word does NOT belong with | *°' nat s similar to the given set.
the others 7 40. (2,14, 18)
(A} guilar (A} (2,7, 8)
(B) fiute (B) (2 9 16)
(C) wiolin (C} (3,21, 24)
(D) eello (D) (4,16, 18)

39110 8UO UO sa3pPpdn puD SBIDUPIDA
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33.

34.

35

36,

A

21 25 1B 29 33 18
(A) 43 18
(B) 41 44
()

(D)

ar 18

a7 41

75 65 B5 55 45 85 35
(A) 2B 15
(B) 25 85
(c) az 28

(D) 85 35

2345648
(A -9 10
B8) 48

(C} 10 4

D) 94

AT H e wrem wEET R

(A) TR

(B) =l
(C) FrrfeA

Th 1

(DY AT

JDD-32/PGT-POLSC/X-14

7. ZA., Y4B, XCp W,D,
(A) EV
(B) V,E
(C) VE.

(D) VE;

38. QPO, NML, KJI,

(A) HGF
(B} CAB

(C)  JKL

(D} GHI
39, JAK, KBL, LCM, MDMN,
(A} CEP
(BY NEOD
(C) MEN

(D) PFQ

s Hp, Fawed wE] @ =9 i |

40. (2,14, 16)

(A) (2,7,8)
(B) (2.9, 16)

(C) (3 21, 24)

(D) (4,16, 18)

13-
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S3INS9Y WIDX3 A0S ‘SO LIDYIDS 19307

,EDC

ot (v, %. 40) : B3 73 g wag Sl
e




43.

44,

JDD-32/PGT-POLSC/X-14

iii) Arithmetical and Numerical Ability

The diagonal of the floor of a rectangular
closet is 7 g feet. The shorter side

of the closet is 4 %ﬁ: feat. What is the
area of the closat in square feet 7

(A 5 |8) 13

(C) 27 (D) 37

The captain of a cricket team of 11
members is 26 years old and the
wicket keepear is 3 vears older. If the
ages of these two are excluded, the
average age of the ramaining players
is one year less than the average age
of the whole team. What is the
average age of the team 7

(A) 23 years
(B) 24 years
(C) 25 vyears
(D) MNone of these

What will ba the compound interest

on a sum of As. 25,000 after 3 years
attherateot 12 pecp.a, ?

(A) Rs.9,000.30
(B) Rs.9.720

(C) Rs.10,123.20
(D) Rs. 10,483.20

The angle of elevation of the sun,
when the length of the shadow of a
tree 3 fimas the height of the tree, is
(A) 30°
(B) 45°
(C) &0
(D) 80"

45.

46.

47.

448.

49,

5358 x51=17
(A) 273258
(B) 273268
(C) 273348
(D) 273358

If 20% of a = b, then b% of 20 is the
same as

(A) 4% of &

(B) 5% ofa

(C) 20%of a

(D) MNone of thesea

In a group of 6 boys and 4 girls, four
children are to be selecled. In how
many different ways can they be
selected such that at least one boy
should be thaere 7

{A) 158 (B)
(C) 205 (D)

194
208

Two pipes can fill a tank in 20 and 24
minutes respectively and a waste
pipe can empty 3 gallons per minute.
All the three pipes working fogether
can fill the tank in 15 minutes. The
capacity of the tank is

(A) 80 galions

(B) 100 gallons

(C) 120 gallons

(D) 180 galions

Two dice are thrown simultaneously,
Whal is the probability of getting two
numbers whase product is even 7
(A 12

(B) a3/4

(C) 38

(D) 5/16

39110 8UO UO sa3pPpdn puD SBIDUPIDA
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41,

42

As

iil) ateriore T ve S g

Eﬁiamﬁmaﬁaﬂ&;mhﬂﬁm‘f?)g

T d 1wl R ama ), 5
3 F1alt 1 aaEe 7 w2 1 A R 7

(A) 5, @ 13

C) 27 (D) 37

11 FEEEE v Bhe i % s o
W 26 O § 3N FEFE fm ) am
3WH & | 9l 3 FE R 3w g
U, ST wewl i a3, W A
T IW A UF A FAE | F9 H AE
e ?

(A) 239

(B) 24 TR

(C) 254

(D) o & e

25,000 . T 12% v = w2
=T T 3 F91 o o | e wa
g 7

(A) 9,000,303,

(B} 9,720%.

(G} 10,123.20 %.

(D) 10,483.20 %,

o4 U U & e F vEE 39 15 #
Frard & foph ot 2, a9 9 = geE
FI AR 7
(A) 30°
(C) BO°

(B) 45°
(B 80"

45,

48,

47,

48.

43,
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5358 x51="%
(A) 273258 (B) 273268
(C) 273348 (D) 273358

g2 a1 20% = b 2, @ 20 =
b% SHE W R T

(A) a 4%

(B) a®15%

(C) a®120%

(D) 3 4 w05 e

6 ¥5h #W 4 TEfF & AgE # =
et e | e e @ T
A1 TR & 6] o AW FH U
sTEm fhe B 7
(A} 159

(C) 205

(B)
{®)]

184
209

U ZH 2 TET FA: 20 i 24
e o v & of v sem ady =R
&1 wfa e 3 Tom =1 @ = & 19341
g 1 &fl F IEn vw W W =

STOH S0 B 3115 e b Zh = s 2
# 135 Zh) o) s 2

(A) BO #e (B) 100 e
(C) 120 T=M (D) 180 fel

1 T T I W 8 | S EEA

o SRR 21 EET] e 7 7
(A) 172 (B) 34
(C) 8 (D) 516

m 210 U0 UOo se3PpPdn PuD SBIDUPIDA
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50.

bi.

5e.

53.

54,

A man is 24 years older than his son.
In two years, his age will be twice the
age of his san. The present age of his
20N 18

{A) 14 years (B}
(C) 20 years

18 years
(D)} 22 years

The product of two numbers is 4107.
If the H.C.F. of these numbears is 37,
then the greater number is

(A 1D (B8) 107

(C) 111 (D) 185

The sum of the digits of a two-digit
number Is 15 and the dillerence
between fhe digits s 3. What is the
twio-cgit number 7

(A) B9
(B) 78
(C) 96

(D) Cannot be determined

A train 240 m long passes a pale in
24 seconds. How long will it take to
pass a platform 650 m loeng ?

(A) B5sec. (B) 89sec.

(C) 100 ssec. (D) 150 sec,

The percentage profit earnad by salling
an article for Rs. 1,820 is equal to the
percentage loss incurred by selling the
same article for Rs. 1,280, Al what
price should the articlie be sold to
make 25% profit ?

{A) Rs. 2,000
(B) Rs. 2,200
(C) Rs. 2,400

(D) Data inadequate

a8,

58

59
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The ratio of the number of boys and girls
in a college is 7 : B. If the percentage
increase in the number of boys and girls
be 20% and 10% respectvely, what wili
ba the naw ratio 7

(A} 8:9
(B) 17:18
(C) 21:22

(D) Cannot be determined

A sum of Rs. 12,500 amounts to
Hs. 15,500 in 4 years al the: rate of simple

interest. What is the rate of interest 7
(A) 3% (B) 4%

(C) 5% (D) 6%

if a = 0.1033, than the value of

J4a® —4a+1+3ais

(A) 0.1038 (B) 0.2078

(C) 1.1039 (D) 21039

In a flight of 600 km, an alrcraft was

stowed down due to bad weather. Its
average spead lor the trip was
reduced by 200 kmvhr and the time of
flight increased by 30 minutes. The
duration of the flight is
(&) 1 hour (B)
(C) 3 hour

2 hour
(D) 4 hour

A can do awork in 15 days and B in
20 days. If they work on it ther for
4 days, then the fraction of the work
that is left is

(A) 1/4 (8) 110

&y THS (D) 815

A boat having a length 3 m and
breadth 2 m is floating on a lake. The
boat sinks by 1 cm when a man gels
on it. The mass of the man is
(A} 12 kg (B} B0 kg
({C) 72kg (D) 96 kg
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51.

3.

Ush =4faa 36k W0 1 24 AR E |6
T TFT G I I e I
THI BTl | 3 e i I b

(A} 149TH (B) 18w
(C) 20%HT (D) 228w
= HETH! AR 4107 B | afd
TN = wE i uw (HOF) ar i A,
aE TS

(A} 101 (8) 107

(€} 111 (0) 185

% WFEE TENF SR g 152
i it § o o B | = A st

H@IMH

(C} 96
(D) i 78 Fean smasm

T 240 H, TR #1 H uE G )
24 TFE T U A B | I 850, T

& GEHARRE FT IR F § Fran aun
= 7

(A) 65 ¥z (B) B9 HwE
(C) 100 #&z (D) 150 T
U 5] 1,820 % § @=1 @ foen
i W S & 3 € afa |
3 A6l @ 1,280 5. S A E B |
25% TATE FH % foyu a8 g Fied 1
o=t st e 7

(A) 2,000 %,

(B) 2,200 %,

(C) 2,400 %,

(D) =9t #iwe

Bh.

af.

a8.

&9,

B0
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0 SRTeTal ¥ ST 3T wiafg| o) awe
7: 8% s # | 9ff et 4 el
vl &1 desn w200 3 10%
& HEE W £, 71 T A wE ?
(A) 8:0

{(BY 17:18

(C) 21:22

(D) Frerifee & B s

T wTe 2 E 499 | 12,500%. 30l
15,500 %, Bl 2 | &= =t e 2 7
(A} 3% (B) 4%
(C) 5% (D) 6%

a5 a =0.1038 2 a1

Ja4a® —4a+1 +3aFIEGR
(A4) 0.1038 (B} 0.2078
(C) 1.1039 (D) 2.1039

600 1. W), & w1, vy g S wr
U BT SRl ) i 35 v | 556
e T 30 B0 % B 200 R i/
U1 | R 7 s T e wmn
ST 1 IS @59 30 e s
39 v wErE £ w A b

(A) 1w (B) 2w
(C) awuwe (D) 490

U A 15 B A s B oo BT
FIATR | T8 SR Ee d 9 B
&, @ 7 U 3

(A 1/4 (B) 1/10

(C} 7hs5 (D) B/S

U & |1 3 =t v 6 siw 2
H1EE & 8, wh st i g 8 ) T
R e e R R B
T 8 | 36 3EH 1 e

(&) 12 TR, o,
(C) 72f&. m.
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v) Test of Language : Hindi =
et wiftaror ; fe=d
Frefertian wet % 3w e ffiay, | Few 69 - 70 : A & v F vmaR F |
61. ﬂﬁﬁﬁmﬁraﬂ:ﬂm%? 69. H: + FLEA = WA EE
(A) T (B) T (A) =R EY (B) Ferffa
(C) T (D) TETH (C) Fhgaf (D) F=HEE
62, 'z w1alEw 70, WY + TE = Wi -
(A) T (B) HEW (A) e ER (B) fomdufy
(C) w=eRy (D) Emg (C) afgwm™ (D) =Ry
63, ‘Te=d wifaEmamd ¢ 71, g W et ¥ 8 ) A @ agae
(A) e (B) e FE
(C) sifmd (D) 5= (A) e Taafemt 34 8
) (B) FE W et 8 8
4. %ﬂ—mﬁﬂ‘ T BT RO TR W e (©) Fﬁmﬁﬁﬂﬁ?
(A) gz (B) iz (0) Rk gwe
(C) itar D) =EE | 72 iR AT T
65. I9g1A 8 g6 AT e & e i wn wfim v
(A) #H (B) s mEeEq W1 7 s | e
(C) =it (D) =AM “Faew” | s Gy
56, JRAErwE ﬁ'l?l?‘lg | & el g B #
(&) @R e | i S B 5
(B) = d 50 e ? | (G %8R ®) 3,5
(C) =mEwa # ey fimz? 73, Tfefaa # v sl sgem £ )
(D) 38 795 o T2y gz 2 | (A} T B) &
(C) = D) ®

67, 39FE FF
(A} FBETEAA A (B) faamam
(C) FEAFHET (D) GaAEm

74, I9ET g9 T2 8
(A) AER-THER (B) =RREI-=%RE
(C) YeTET-2eT (D) ZEa-=em

68. "Wl wrEly FrwaE g | 75. ‘et s oM wa R
(A) w2 +ya (B) =5 +Efd (A) TEEFEdE (B) e
(C) ua+%H (D) 77 + R (C) TFeEE (D) e
A 18-
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76-80 ; 3qfEw Trerier 77, TS TR = w8, it

Y O Qe o Y !Tatr_nﬂ%ﬁmﬂa"r%a
'ﬁdﬁﬁmﬁiﬁﬁiﬁ:@ﬁqmﬁfquqﬁq RO (B} 7971 o T I &9 INATH T |
wf e A | (C) Tmusdm amdafgsian=2 |

(D) T et wefa w8 afg e

T ST R SE R T AR s aEE
T AE T T I R A R (g -
e e, TR o de | wra F=mooey | 78 MR AEEERwabE s da e v
YT =K1 T =R HEE AT R | WA 4R E2IE

e srrafers 3wanss, Ho= aun w0-v0 2, (A) e o = e @
FemrsmamHER i am ? 19 o= T eh-

iy ! (B} T emE =i =R s
I9A A dEA 9 F=N w3 a0 I8m }

i ¥ 51 g 8, T et e o i o T

awdi 618, Ty v A R B 2 | T CIRLEER RS L L
oft T TR T Oy S S I AR (D) Wit oy 8 oy o ulgsan
afe T 1 2Rt A weit E9 v Tewq A a2 |

et q] e B | g T e wea

T e A gEEl R | A e | g o e T i
TR A A s R | vwE & T v

39 3, wron s g 3 s o e t4) St
U # | WA & A o T e e (B) Iu=EH
ﬁﬁ%l (C) i
(D) S
76. WA = BN P F 0 HEE
s BO. W TTRITHI =1 IR T R
(A) 70T % WO gE BE ITEHE | (A) T e
(B) TPT HET B T E @) T
() wEis St g wammad e | () Tim: e i o i
(B eI IEEEC | N

A 19-
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ﬁ JDD-32/PGT-POLSC/X-14
I-\.
v) Test of Language : English
WTHT TEE ;ST
| B1. Change the Passive : Do you imitale | Directions for Que. No. 86 and 87
others 7 Compieta the statement.
(A} Are others baing Imitated by you 7
(B) Are others imitated by you 7 86, Although I_nltial investigations pointed
(C) Have others being imitated by towares Rim :
you 7 (A} ”."E Frece-ding eugnts carmﬁrated
(D} Were others baing imitated by nisarvphement i the crime
you 7 (B) the additional information
gonfirmed his guilt
B2. Select the pair which has the same (C) the subsaguent events established
relationship. that he was guilt
Q) the subsaguent events proved that
Pork : Pig & he was ingur;unt gy
{A) roostar: chicken
(Bl mMton: sheep B7. The weather cutside was extramely
(C) steer : beet pleasant and hence we decided 1o
(D) lobster : crustacean (A} ulillse our time n watching fhe
television
Directions for Que, 83 and 84 : Choose (B) refrain from going out tor a morming
lhe word which is the exact OPPOSITE walk
of the given words. (C) enjoy a morming ride in the opan
83 Flagitious (D) mﬁ;?l;:fmrﬂre apportunity for
{A)  Innocent (B) Vapid
(C)  Ignorant (D) Frivolous B8. Find the correctly spelt word.
Al d oy
(A} Criticize (B) Flatter
(C) Exaggerate (D) Adore B9. Find the correctly spelt word.
B5. Directfindirect speech : | told him that fg: E:::: :gi FF':EII::&

he was not working hard.

(A} Isaidtohim, *Youare notworking | go T end in smake

hard,"
(B) | told to him, “You are not warking (A) To make completely understand
hard” (B) To ruin oneself
(C} 1said, "You are not working hard." [C) Toenche graat applause
) | sald to him, “He | i
v h;::l g PR orieing (D) To overcome someons
As 20
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Directions for Que. No. 91 and 92 -
Cne Word Substitution.

91. A prima facie case is such
(A}~ As it seems at first sight

(B) Asitis made to seem at first sight
(C)  As it tums out to be at the and

JDD-32/PGT-POLSC/X-14

895, Solve as per the diregtion given
above.
(A) One of the members
(B) expressed doubi if
(C) the Minister was an atheist,
(D) Noeror

(B) As it seems to the court after a | Directions for Que. No. 96 and 97 In the

number of hearings

following guestion choose the word
which best expresses the meaning of the

92.  Aperson pratending 1o be somebody | given word.

he is not
{A) Magician (B} Rogue

96. ADVERSITY

(C) Liar (D) Imposter (A) Failure
(B) Helplessness
43. Order the words ; The national unity (C) Misfortune
of a free pedole (D) Crisis
P : to make it impracticable
97. FAKE

Q : for there to be an arbitrary
administration

(A} Original (B) Imitation

R : depends upon a sufficiently even () Trustworthy (D) Loyal
bafa nee-o pﬂ!l’[.lc.‘ﬂl MRS , 98, My uncle decidedtotake
St against a revolutionary opposition and my sister to the market,
that is irreconcilably opposed to it (A) | (B) Mine

The proper sequence should be :

(G} Me (D) Myself

(A) QRPS (B) QRSP 99.  Ityou smuggle goods into the country,
(C) RPQS (D) RSPQ theymaybe by the customs
- authaority.
:;Tn—l:rnﬁfﬂr Que. No. 94 and 95: 'dEﬂlH‘ﬁf (A} Possessed
(B) Punishaed
84. Solve as per the diraction given (C) Confiscated
above. (D) Fined
(A) Alot of travel delay Is caused 100, Man does not live by along
(B) due to the inefficiancy and lack of (A) Food
good managemeant (B) Bread
(C) on behalf of the railways.
(D} Mo ermor o), [ main
(D) Diet
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% JDD-32/PGT-POLSC/X-14
SECTION - B
Post Specific Subject-Related Questions

101,  Tha term 'City State’ is genarally 105. The statemant that the state is an ethical
associated with mstitution which s indispensable for the
(A)  Ancient Egypl tudll moral development of man is
(B} Ancient Greece St
(C) Ancient China (A} Individualists
(DF None of the thras (B) Anarchists
(C) |dealists
102, Plato fixed the population of an ideal (D) Marxists

stale at

106. Who said 'Man Is & social animal' ?
{A)% 1,900 persons

(A) Arnstotle
(B) 5,040 persons ®) Plato
(C) 10,000 persons (€] Rousssa
(D) 1,00,000 persons D) Laski
103.  According to Arislotie 107, The view that the stale is a
(A) State is a divine institution necessary ovil is associated with
(B) Slate is an artificial ereation (A) Individualists
(C) State is a creation of lorce (B) Anarchists
(D) State is natural institution {C} Marxists

(D) Sophists
104, The Marxists hold that

(A) “The siate s 8 class structure 108.  Who said that state Is expansion

of family 7
(B) State represents only the workers
{4) Plato |
(C) State represents the entire (B) Aristotle |
comminity (C) Locke
(D) State is a power system (D} Newlon |
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101.

102,

103.

104,

Hm—a

ez Ffaire e - dad o

ST AR §158 | 3l
e #

(A) A gfe

(B) W=t

(C) Wi

(D) =i o i el

U ST 11+ ) FAEE e A A
Teratfim =i

(A) 1,900 =5fw
(B) 5,53{:3&%5
(C) 10,000 =1fm
(D) 1,00,000 safE

(A) T U STty won
(B) T UFFREughE
(C) 1T T g B

(D) TP v T He

HEHETE T 2

(A) T T 9 TR

(B) T et el o1 qhTe
T R

(C) gt amm =i sy vhRfis s e

(D) T T ) v 8

105.

106.

107,

108,

JDD-32/PGT-POLSC/X-14

TE A T T B U U AT g
? = og= &% ol A Bem F R
a2, 78 T S

(A) =R

(B) 3WE=FART

{C) HA=TEE

(D) wEEETE

“a71eHl e mmaE ) 2 e T
sl 7

(A) sfeien

(B) =il

(C) &

(D) e

T4 UF /G T 2, T8 59 T
e

(A) TaTETTE
(B) T
(C) wEdaE

(D) shi

T 4% TiEn & fBean 8, e e
ww

(A) =3

(B) iz

(C) w

(D) A

39110 8UO UO sa3pPpdn puD SBIDUPIDA
‘S3INS9Y WX A0S ‘SO LID)}IPS 1S90




% JDD-32/PGT-POLSC/X-1:
=
109. Who said "l am the Stata” 7 113. The pluralists belleves in
(A) James Il of England (A) Legal sovereignty
(B) Mapoleon | of France (B) Poiitical sovereignty

(C) Nominal sovereignty
(C) Louis XIV of France

(D) Absolute sovereignty
(D) Hitler of Germany

114, "H sovereignty is not absolute, no

110.  The term Sovereignty has been state exists” — Who sald this 7
drawn from the Latin term (A} John Austin :
(A) Supranus (B) Jean Bodin
(B) Supreme (C) Hobbes
(Ck Soviet (2} ‘JohwLocks
(D) Statute 115. In India the legal soveraignty lies in

(A) Parliament
111.  Who said that i i

1 ho said that sovereignty was the (B) Supreme Court
(C) President

(DY Electorate

fuliness of state 7
(A) The Greeks
(B) The English
(C} The Romans
(D) The Indians

116, De-jure sovereign refers to

(A) A person who has legal right 1o
govern and command obedience
B) A person who is authorised b
112. The concept of 'legal soveraignty’ i y
Parliament to rule the country

was for the first time profounded by _
{C}) A person in whom the entire

(A) Hobbes authority is vested by the

(B) Rousseau Constitution but does not make

(C) Locke use of the power

(D) T.H.Green (D) The constitutional rule of state
A 24-

m 210 U0 UOo se3PpPdn PuD SBIDUPIDA
‘S3INS9Y WINXJ JN09 ‘SO UDM}IPS 3S9}0T



109.

110,

111,

112

Ax

Rt o d e e R 7
(A) TS =1 oHE |

(B) WFH A |

(C) 8 =153 XIV

(D) WAt fReen

HiarFrdt (wefo) o= wee @ W S
W d TR

(A) HITHH (Supranus)

(8) Ffm (Supreme)

(C) Wiz (Soviet)

(D) +=q2 (Statute)

4
frrsm o f adam s

o 8 7

(A) tRia

(B) =T
(C) A

(D) wweh
‘@l st i HE el W1
et e e 7
(A) EE

(B) w0

(C) =&

(D) & u=E dR

113,

114.

115.

116.

JDD-32/PGT-POLSC/X-14

AT g fayam i § 7
(A) R s

(B) Tt

(C) TRl e

(D) @l s

**arfe P Tl T 2 A1, W O
sfem A g wm, UE e e
(A) = AR

(B) Atz

(C) e

(D) =R

TR 8 T AP e A 2
(A) TET

(B) T=dad iy

(C) TRl
(D) FarE=-Tm

fafed ( De-jure ) WG 1 Heerd i
(A) T =fE IR WA 3
AT =91 5 TEH & FA]
SR

Hae T WitERa =fE g 29
I

HIAT FR U =i g S
firdy 77  Sf TR T I
T el

T | H T WA

(B}

(C)

(D)
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ﬁ JOD-32/PGT-POLSCIX-14
‘ 117, Under demogratic system of 121, The three most prominent exponents
] government the popular,
¥ sovareignty resides in of Social Contract Theory were
(A) Popularly efected representative (A) Austin, Bodin, Hobbes
cogy (B) Hobbes, Locke, Rousseau
(B} The electorate
(©) The people (C) Mac lver, Laski, Hobbes
(D) All the above (D) J. S Mill, Smith, Hobbes
118. According to Laski the stata is 122, TheSoclalContract Theory Is based on
(A) Master of society and association (A} Nationalism
(B) Servant of soclety (B) Constitutionalism
(C) Identical with society ' (C)  Individualism
(Dl None of the above (D) Socialism
118 In modern times the Force Theory 123. Social Contract Theory deals with

found a strong advocate In
(A) The nature of state

(A) Lenin
(B) The functions of state |
(B) Hitler
(C) The purpose of state
(C) Winston Churchill
(D) The origin of state
(0} Mahatma Gandhi

: 124. According to Hobbes the state of
120.  According to the Matriarchal Theory
nature was a period of

the head of the family was

A) P
(A) The eldest male member (A Peacs and pleiy

B
(B) The eldest lemale member (B) Constant warfare

(C) Mominated by the king (C) Peace and scarcity

(D) Nominated by the Chief Priest (D) Religious dominance
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117, A= T =1 5 | - 121, wnler s fagra % diF e
AP o wdl BIGRIEEE
(A)  FEmE T uiEE i (A) e, FiEA, BlEE
(B) Fatam (B) wiars , w7, w1
(c) @m (C) Hawger, AW, BT
(D) Fas (D) =, w, firer, fe, v
118, TR & 78R T §, 122, wmferes sEa e 38w Ania 8
(A) e ST E 1 ST (A) TR
(B) HHTH = (B) HRuwE
(C) e o @ wHE (C) =afFEE
(D) FH H T 78 (D} THEER
119, wngfis wva § == fogrm S akrs 123, TR e FEi HE HERy
GEPE R R
(A) wFE (A) T o TEY
(B) Teem (B) TEAHIFHHA
(C) Pz (C) TERFIEE
(D) e (D) T
120, W FOE & ST TREAN 124, T % TR W o 794 T
S 1 1 o)
(A) T ST G HETE (A) wrif siagls
(B) e 8 wieen gaem B) e =
(C) T T ot v (C) =it 3f s
(D) e guife g g e T (D) Efifer T
As 27
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ﬁ JDD-32/PGT-POLSC/X-14

. 4
125.  According to Locke people in the state 129. Feudalism was a dominant feature of

of nature enjoyed only {A) The City States

{4) Divine Rights {8) The Roman Empire

(B} Matural Rights (G) The Holy Roman Empire

(C) Legal Rights (D) Al the three
(D} Religious Rights

130. Who asserted that the state would

126. Rousseau hailed from ultimately wither away ?
i {A) Britain {A) Kant
(B) Germany (B) Marx
() ¥rance (C) Asistotle
{D} Russia (D} Gandhi

127. Who said that “Man is bon free, and 131. Who said that "The slate is nothing

avery whare he Is in chains” 7 more than a machina” 7

(A) Aristotie (A) Marx
(B} Marx (B) Lenin
{C) Rousseau (C) Stalin
(D) Locke (D) Engels
128. The modern state is described as 132. The Marxist Theory has advocated

(&) Police state (A) Capitalism

(B) A welfare state (B) Communism

(C) A lalssez faire state (C} Feudalism

(D)} Autocratic state (D) Communalism

A
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125, &% % HR 951 & 7= % @m
el SER] IO A
(A) draity sl
(B) wikfeh srfirm
(C) =Tt SRR
(D) sfifs afismp

126, &I §8 <0 & TEATE] 07
(A) Ta=
(B)
(C} W 4
(D) +&
127, TreE = B e wm F T

T & 300 e s A f
FFHSIEM e 1

(A HAilzs
(B) e
(C} &=
(D) wi=

128, 3y fer e ) vl afifq A 8
(A) e =
(B) T SHEdmy Ty
(C) Ve FETASY Ty
(D) v T
As

128,

130.

i31.

1.32.

JDD-32/PGT-POLSC/X-14

LS R A EARE e e o )
(A) TET I

(B) TmHEmET

(C)  afs I oy

(D) wnfiet

e T B o & o anfEw
wEn

(A) =12

(B) ==

(C) ffirem

(D) )

o B e R e e
FE R 7

(A) Wt

(B)

(C) =i

(D) Uit

e ferge gHe we B
(A) e

(B) HDETE

(C) |W=EE

(D) ErvEEEa
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ﬁ JDD-32/PGT-POLSC/X-14
L3

133. Surplus value means 137. The proposal of which plan
(A) Excessive value established the Constituent
Agsembly 7
(B) Low price

(A} The Cripps Mission Plan
(B} The Cabinet Misslon Plan
(C} The Mount Batten Plan

(D} None of thesa

{C) High profit

(D) Difterence between wages and

proceeds of sales

134. The Parfiament and the Constitution 138. The Constitution of India s

are instruments of

(A) Rigid
(A) Legal Justice (B) Flexible
(B) fuliticali justice (C) Very rigid
(C) Economic justice (D) Partly rigid and partly flexible

(D) Social justice 139. The first meeting of the Constituen

135. Constitution is Assembly of India was held on

1k
(A} The fundamental law of the land (A} 26" January, 1950
By 28" November, 1949

(C) 9N December, 1946
(D) 9 December, 1949

(B) A historical document
(C) A socio-econcmic docurment
(D) MNone of these

140. Who acted as the Provisional
136. The Indian Constitution was enacled by

President of the Constituant
(A} Dr. B. R. Ambedkar

Assembly ?
(B) Jawaharlal Nehru (A} Dr. Bajendra Prasad
(C) Mahatma Gandhi (B) Dr. B. R. Ambedkar
(D) The Constituent Assembly (C) Dr. Sachidananda Sinha

(D) Mahatma Gandhi
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133, wfesy e #1 WA
() ooty qeg
(B) FAIH

(C) F=HATH
(D) Tl et o9 3o = o=

HHR 30 FREE T I
(A) FrEh=m

(B) i =

(C) il g

(D) amfas =

134,

LICRIEE:

(A) =971 A A

(B) wF vfeifier swamw

(C) o mmeTio - 3nifiler wwart
(D) T A HE

135,

138,
(ay =1, sEEw
(B} wETEEAE AvE
(C) weTeR i}
(D} wfEEFE-w

As

W wleam =1 TR srferfem samn 7

137.

138.

139.

140.

-21-
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1! e T 8 HRuE -m
T ES
(A) & Tors e =
(B) TRz My e
(C) BT dz4 @M
(D) & & &1 e
snGEabaE ekl
(A) =&
(B) =N
(C) =ga T
(D) 3791; Wie o Sym; wwlien
TRA & Hl9H-891 F THel S35 9
el |
(A} 26 Fail, 1950
(B) 26 TEwT, 1949
(C) 9 fewem, 1948
(D) 9 Tmrr, 1949
TIEaT B F S s e g 7
(A) =, 1elE TR
(B) =1 &t 3w, andEw
(C) =T, afeagre i
(D) wEme I
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141,

142,

143.

144,

Who is regarded as the ‘Architect of
the Indian Constitution' ?

(A) Dr. Rajendra Prasad
(B} Dr. B. R. Ambedkar
(C) B.M.Rao

(D) Mahatma Gandhi

The Constitution of India came into

force on

(A) 15" August, 1947
(B) 26™ November, 1949
AC) 26" January, 1950
(D) 9% December, 1946

Art. 1 of the Indian Constitution
describes India as a

(A} Quazifederal state

(B) Federal state

(C)
(o)

Unitary state

Lnion of states

Which of the following is not treated
as part of the Constitution ?

(A) Preamble

(B) Fundamental Rights
(C)
(D)

Prassure groups

Fundamental duties

145.

146,

147.

148,

JDD-32/PGT-POLSC/X-

Total number of Schedules in the

Indian Conslitution are
(A) 4
(B8) 8
(C) 11
(D) 12

Who is the presamt Vice President
of India ?

(A} Dr. Hamid Ansari
(B} Prathibha Patil
{(C} Pranab Mukheres
(D} Rajanath Singh

Total number of Fundamental Rights
enjoyed by the citizens of India are
(A} 5

(B) 8

{C) 7

) 8

Which part of the Indian Constitution
deals with the Fundamental Rights 7

(A} Partl
(B) Partll
(C) Partlll
(D) PartV
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141.

142,

143.

144,

As

RLGIEE ERicE it e ek ol
HR T

(A) ST, THIZ W12

(B) =i . W, =

() #.w.m

(D) HETEHT I

T 1 Hiaa e 2 3w gen 1
(A) 15 3=, 1947
(B) 26 7=, 1949
(C) EETTFIHfL, 1950
(D) o few=m, 1946

st wiaue %1 agse 1 awE
T T TS AR |

(A) e weft T

(B) w1

(C) ufdrer T

(D) Trl T Ha

= 9 8 o g 1 Ban adiamn
=T 7

(A) TR

(B) wHEnn iR

(C) ==

(D) HEw Fri=a

145

148,

147,

148.

JDD-32/PGT-POLSC/X-14

VA TiaH W & Ao |
(A) 4
(B) 8
(Cy 11

(D) 12

T % Fo0H Ju-TreR Fa # 7
(A} =1 7R s

(B) Wi e

(C) gt

(D) T e

AR = ARTH et e genn srfiem
HPEFAE T

(A} 5

(B) &

(C) 7

(D) B

Gferar it R wm i gengy st
& T S et # 7

(A) WP

(B) wmIl

(C) sl

oMy

D)
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148, The Human Rights Day is observed 153. Genocide means
Bvery year on

(A) Mass kil
(A} 20" January ! o

B icl
(B) 30" December (B) Suicide
(C) 10" December (C) Killing children
(D) 110%™ November (D) Killing females
150. Which rights are regarded as 2™ 154, Govt. of India passed the Pravention
aneralion rights 7

g e of Food Adulteration Act in
(A) Economic, social and cultural

¢ (A) 1834

righls
(B) Fundamental rights (B} 1944
4
(C) Civil and political rights (C) 1954
(D) Human rights (D) 1964

151.  The first world conference on Human 155. Expand IPC

Rights was held at .
(A) Indian People's Court

(A) Senegal

(B) New Delhi (8) Indian Panal Court
(C) Vienna (C) Indian Penal Code
(D) San Jose in Costa Rica (D) Indian Postal Code

1582, Mot line facilities for victims of human 156. PIL means

nghts are availabla for
gh {(A) Public Interest Litigation

(A) 20 Hrs;

(B} Police Invesfigation Limi
(B) 24 Hrs. } shig ited
(C} 18 Hrs. {C) Personal Information Limited
(D) 22 Hrs, (D) Public Information Limited

As
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1560,

151,

152,

& A o=g i feg, oo e o
TR |

(A} 205

(B) - 20 TEom=t

(C) 10 FEmmEn

(D) 10 e

w1 g i s

qETEE S 7

(&) s, omfems o ol
wferrn

(B) TErA sffirm

(C) it sl veifs wftmw

(D) == AR

ATE AR T e e anem v

B4 |

(A) e

(B) = fawelt

(C) T

(D) = fem | g =

wrE wfEEE o I % fu et

wITE ST 30 WhE I 8 |

(A) 209w

(B) 249w

(C) 18 ®w2

(D) 22 ¥

183,

154.

155,

156.

-35-

JDD-32/PGT-POLSC/X-14

smTfeEm

(A) TR e

(B) HrewEe

(C) &=ai i e

(D) fEEHieen

TTd HE T = @el Taetae famm fay
7 =74 1 fa 7

(A) 1934

(B) 1944

(C) 1954

(D) 1964

s v (IPC) 1 waem 2
(&) 3w e =i
(B) shem drm e
(C) T dmm =
(D) & ireet g

f 3118 v (PIL) 1 Hevera
(A) TR 5o Elinm
(B) e st fefires
(C) T TEiyE fafhze
(D) uleer= sremym s
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167, Whao is the father of Public 161. Which among the following is the
Administration ? meaning of '‘Polis' 7
(A) L. D.White (A} Country
(B} Woodrow Wilson (B) State
(C}  Luther Gullick (C) City-state
; (D) Simon (D) Village

'35, Whocched hetor'POSDCORB'? | vor  poilissal Slnce s & Biknoh o

! |
(A} J. D. Millet (A) Physical Science

B) Piffiner
u (B) Matural Science

(G4 Luther Gullick :
(C) Pure Science
(D) L. D. White
(D) Social Science

159, "Arhashastra” was written by
163. Mahatma Gandhi believed in

(A) Aristolle

(B {A) Power-Politics
| Plato

(C) Kautilya {B) Purity of means

(D) T.H. Green (C) State monopoly

(D) Planning and heavy industries
160, The devices of direct democracy are

faund in 164. Puolitical Science deals with
(A) Switzerland (A)  Political power

{BY France (B) Economic power

(C) England {C) Social power

(D) America (D} Cultural power
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167,

158.

158,

160.

Ax

i e & frame S E 7
(A) T, A, =
(B) T e
(C) e fer

(D) &R

'POSDCORE" 91e2 fom = 7
(A) =, &, fere

(B) T

(C) FE?-H"TE"TEF

(D) e, 3. =ne

Yo " ¥ daw
(A) fieiea

(B) el

(C) =ifeeg

(D) & w=. e

T2 Elee ol Wl et o weft d |
(a) Teeanez

(B) W=

(C) weiw

(D) awliR

161.

162.

163.

164.

JDD-32/PGT-POLSC/X-14

gifera ' (Polis) 1 eem e 1 4@
T

(A) =
(B) T
(C} ¥eT-TrY
(D) Wi

UECHGREFIER SEaRe B C L
(A) iR fEgm

(B) wffamm

(C) i Fom

(D) THE BT

wEte Tt | 3| W A R
(A) " T

(B) @ ) g

(C) = whITaFN

(D) I sfie i 3em

Tt o sem wafia g
(A) TrTeER B

(B) Tl am

(C) HmfE g

(D) T &
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166,

167.

164.

Who was the author of the book
'Politics' 7

(A} Hegal

(B) Socrates

(C) Arstotle

(D) J. 5. Mil

Which amang the following is an

element of state 7

(&) Sovereignty

B8] A Treasury
() Army
(D) King

Who advocated communism of

wives 7
(A) Plato
(B) Aristotle

(C) Socrates

(D) Kar Marx

Who wrote the book ‘Leviathan 7
(A} Locke

(B} Rousseau

{C) Hobbes

(D) St Thomas

1849.

170.

171.

172.

JOD-32/PGT-POLSC/X-1 1

Theory of Separation of Power was
profounded by

[A)
(B)
(C)
(D)

Aristotle
Montesquiau
Carl Fedrich
J. 5. Mill

Which of the following Hitler
advocated 7

(A)
(B)
()
(o

Nazism
Fasclsm
Democracy

Anarchism

Who among the following practised
Satyagraha ?

(A)
(B}
1<)
10}

MNehru
Gandhij|
Ambedkar
Patel

Democracy is a system of

govermment in which the final

power rasts with

(A)
(8)
(©)
(D)

The Mob
The People

The Politlcians

The Civil Semvice
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165, Uifefeawm fram = vas wmd 7
(A) T
(B) wiwEwH
(C) sATEe
(D) 9. uA. =

166, T 8 9 T o geee # E 7

(A) Helw

(B) =

(C) #n

(D) T

Tafer & wmaTs ) T e o6 7
(A) el

(B) aTHEZTEA

(C) whkizH

(D) =T g

167.

168, 'afEEma’ Fram Feas e 7
(A) wiH

(B) =41

(C) ¥

(D) HzwiEa

Ar

1648,

170.

171.

172

JDD-32/PGT-POLSC/X-14

I o AT Tt e st e
H T
(B) wiew

(A)

(C) #Te hafe
(D) . ug, foE

i o 9 Teeem A Torerehl a2l 7
(A) ArEiEm
(B) fimm
(C) wiisha=

(D) IEFaEs

W= e wwmE s
(A) "8

(B) Tt

(C) =EH

(D) ==

iR vl we g R el sy
HAT 596k BT A w8

(n) iz

(B) ==

(C) TrETT

(D) R
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174,

175.

176.

Who profounded Panchasheela 7
(A) Shastri

(8)
(C) Ambedkar

Indira Gandhi

(0} Nehru

Lal Bahadur Shastr Mational Academy

of Administration is at
(A} Delhi

(B) & Bangalore

(C) Mangalore

(D)  Mussorie

Which is the recruiting agency of
LA.S.?

(A)
{B)
(<)

KP3C
BPSC
UPSC

(0) MPSC

The function of line agency is
(A)
(B)
(C)
(D}

To serve
To execute
Tao train

Mane of these

1.

178.

179.

180.

JDD-32/PGT-POLSC/X-14
1!r
Who is responsible for Budget
approval 7

(A) The Pariameant
The Executive
(C) The Judiciary
(D} The Presidant

(B}

The Budget is prepared by
(A) P.M.

(B} Finance Minister

{C) Defence Minister

(D) Home Minister

Who is the first citizen of Karnataka ?
(A}
(B}
(€}
(D)

Govearnor
Chief Minister
Presidant

Chief Secretary

Which Is consider as fourth estate of
the Government 7

(A}
(B)
C)

Newspaper
Public opinion
Political parties

(D) Pressure groups
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173. Tauiier ) e Beaa = 177, e R & fo i R b 7
(A) T i
) o (B) s
= ma:r (C) =i
- (D) weguia

| 174, T TR W) T W s 178, et 8

51 A & |
i (A) 7.,
(8) g (B) Fawh
() ek () sEm
(D) (D) &=

175, ok v v, F R A ALY | FA1eH "W ' w7
(A) ., vE ) TR
(B} it um (B) W
(C) F.1. 7\ = (C) T
(D) w4, (D) T

176, w0 ustedt 7 e 2 180, WORR F1 "ERu Tz Sl e 7
(A) HeETE (A ST
(B) s (B) = 5a
(G} wikdrer (C) T 2
0 FHE=E (D) == e

A -41-
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181. Who appoints the Ambassadors 7 185. Where is the Head Quarters of
(B) External Affairs Minister Wy, Rneta
B} Delhi

(C) President (B)

(C) Kathmandu
(D) Dafence Minister

(D} Colombo

1B2. Imternational relations is refarred to
186. Whendid U.N.C. came ino existence ?

(A) Foreign Policy

(A) 1945
(B) Econoric Policy (B) 1946
(C) {ocial Policy (C) 1947
(D) Domestic Policy (D) 1948
183. Who was the Architect of NAM 7 187. Which among the following is a
(A} Nehru permanent mamber of Security
(B) Gandhi Council of LN, 7
(C) Patel ok
(B) Talwan
(D} Jinnah
(C) UK.
184. Where is the Head Quarters of (D) Brazil
UND. 7
188. Who wrote ‘Hind-Swaraj’ 7
(A) Washington (&) Nehru
B} MNewY
W el (B) Gandhij
(C) The Hague (€Y Ambedkar
(D) Japan (D) Indira Gandhi
An A=
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181, Tl i Frgaet # wm g 7
(A) WA,
(B) TEshoh
(C) weala
(D) a7 oAt

T T 5w A R
(A) TrEmaf
(B) s if

(C) g At
(D) FufrarAifa

182,

183. TA.LUN. FaAngEREH 4 |
(A) wEw
(B} i
(C) wem

(D) T

184, 979,991, % geaey el 7

(A) =TT
(B) =&+
(C) #m

(D} =M9H
A

185.

"186.

187,

188,

JDD-32/PGT-POLSC/X-14

TH.U. U AEH. (SAARC) # TEITE
FE R 7

(A) &R

(B) faweht

(C) wmewig
(D) e

L. (UNO.) R Fa g 7
(A) 1945
(B) 1948
(C) 1947

(D) 1948

ﬁnﬁﬁﬂthl{.ﬁ.%—:mmwﬁqq
w1 waEm R 7

(A) wma

(B) ™

() T%

(D) @iz
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182. Which among the following is the 193, Inindia, the first Municipal
: upper house of U, K. ? Corporation was set up in which
(A} House of Commons ong among the following 7
(B) Rajya Sabha (A] Caloutta
(C) House of Lords {(B) Madras
: (O0) Senate (C) Bombay
(D) Deilhi
180. Who wrote "My Experiment with
Truth" ? 184, Who is the head of the Cabinet ?
(A) V.P. Singh (A) President
(B] M. K. Gandhi (B} Finance Minister
(G} J.F. (C) Home Minister
(DY Patel (D) Prime Minister

195, Whao is the author of the book
“Who are Shudras" 7

(A) Dr.B. R. Ambedkar
(B} Mahatma Gandhi

(C) Devaraj Urs

(D) Jaya Prakash Narayan

181. Which one of the following was
glected President of India
unopposed 7
(A} Dr. Rajendra Prasad
{B) Dr. Radhakrishnan
(C) Neelam Sanjiva Reddy

(D) K.R.MNarayanan 196, Expand UDHR.
A}  Universal D
192. Which one of the fellowing writs ) ai lht poksaie il e
literally means "What is your .
authority’ 2 {B) Universal Declaration of Home
Right
(A) Habeas Corpus
(C)  United Declaration of Human
{BY Certigrari Right
(C} QuoWarranto (D) Universal Decislon on Human
(D) Prohibition Right
A+ 44-
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189

190.

181,

102,

A

P gasmede s sasg'2 7

(A} FIFHE 3% FiTd

(B) T=EW

(C) BI%H 3TH wisy

(D) Wz

g v g e e e 7
(A)y ., fie

(B) . &, T

(C) =, i,
L |
(D) 92
e 1 @ = e & et i
T 7
(A) 1, THz TERE
(B) =L TR

(€) FremafEd

(D) &, 31K, ANEH

B 1 1 78 T o wrer i
A sl T R e 7

(A} == wEsiEAm (Habeas Corpus)
(B) Hfduel(Cartiorar)

(C) Ifinm g==1 (Quo Warranta)
(D) Fim

183.

194.

185,

186,

JDD-32/PGT-POLSC/X-14

WA § UEe T i sl wnfia B
T 7

(A) et
(B) WM
(C) w=mé
(D) fewehi

niFEATE % T i e E 7
(A) T
(B) T
(C) TEud
(D) e

" AW IER ar Tram Rt o 7
(A) =L W, =

(B) e i

(C) Z=T= 1H

(D) =7 Ty TR

127997, (UDHR) %1 fEwan
it |

() Ffre Reaeitem i g e
(B) gfeda feaeiom sis smos
(C) T Feaeieam i e Tg2
(D) gfde Feftm =% g s
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187. Magna Caria was passed in the year 199. National Vioters Day celebrated every

(4) 1210 year on
(B) 1215 (A) January 26
(C) 1315 (B) August15

e (0) 1415 (C) Novamber 14

(D) January 25
198, Mational Human Rights Commission

was established in the year 200. Who was the first Speaker of

(A) 1948 Lok Sabha 7
:E‘E - (A) Sanjeeva Reddy
{B) Balayogi
(C) 1945
(C) G.V.Mavalankar
(D) 1993

(D) B.D. Jatti
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197, W S ga i e mn
(A} 1210
(B) 1215
(C) 1315

(D) 1415

108, T WFE TR TR ) T 3
T

(A) 1948

4
(B) 1850
(C) 1845

(D) 1993

199,

200.

JDD-32/PGT-POLSC/X-14

TP Haer e v ad o e
(A) 26Fat!
(B) 155
(C) 14 FarEN

(D) 255

i 51 % e s EE A 7
(A) wraE T
(B) =Eranft

(C) =it =t HEEEE

(D) . 2. =
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15

16.

17

18

i

JDD-32/PGT-POLSCIX-1
IMPORTANT INSTRUCTIONS TO CANDIDATES

IEfreEnt & o mewrgot sEse

Thiz bookip! cantains 48 pages

Please check all the pages of the Bookhat
caretully. In casa of any defect, pleasa ask
tha Invigllator las reptacement of the Booklet,
Directions : Each guestion or incomplete
sgtatement is followed by four alternative
suggested angwers of completions. In each
casa, you are required to select the ona that
correctly answersthe question or completes
ha stalement and blacken (@) appropriate
cirgle A, B, G orD by BlueBleck Ball-Point Pen
agamnst the question concerned in the
Answar-Shoel. (For V.H. candidates

corresponding circle will be blackened
by the scribe)

hark your answer by shading the appropriale

circle agains! each queshon; The gincle should
ba shaded completely without leaving any space.
The corract method of shading is given balow,

wivong Mo W Methad | Wrong Mathed fﬂ;mﬂrﬂ|
[s] Yoo [s1-15Tel (Y Ta¥s] [3Y Yala)

The Candidate Must mark his'her response
atter careful consideration,

There is gnly one correct answer o each
guestion, You should Macken (@) the circle
af the appropriate column, vie, &, B, CorD.
If vou blacken (@) mare than ong circle
agEns ary one guastion, the answer will be
freated ag wiong. If you wish 5 cancsl sy
angwar, you should completaly erase that black
mark in the circle in the Anewer-Sheat, and
ihan blacken the cirle of mvised responsa.

A machine will read the coded Information
in tha OMRA Answer-Sheel. In case the
infarmatian = incomplela/didierant from the
information given in the application form, the
candidature ol sush candlidate will be freatad
75 cancalisd

Usa the spnce for mugh wotk givan In the
Question Booklet only and not on the
Anspar-Shaat

Youare NOT required lo mark your answers
in this Booklet. All answers must be
indicated In the Answer-Shasat anly,

11
12

13

14,

15

16

17.

18

w e dag e @

T T el e T gae et | afe
fEdm b A Bl St wmaR SR E |
Trem : weirm W s S A W
T I SAEET QO N T TR | W
T ST TR O 1 AT 51 W ) S
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Go through Instructions given in Page No. 1 (Facing Page)
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